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Georgia \ bl ™ Algebra I

Viilestones Formula Sheet

Assessment System

Below are the formulas you may find useful as you take the test. However, you may find that you do not
need to use all of the formulas. You may refer to this formula sheet as often as needed.

Linear Formulas Average Rate of Change
Slope Formula The change in the y-value divided by the

change in the x-value for two distinct
points on a graph.

Linear Equations Statistics Formulas
Slope-intercept Form: v =mx + b Mean
Point-slope Form: ¥y o=y = X - X)) X+ X+ Xy o+ F X,
- Bt tn ..ty
Standard Form: Ax+ By=C - 7
. - Interquartile Range
Arithmetic Sequence Formulas B0l O
: e G
Recursive: 4. =a, ;*d : i : = :
Explicit o The difference between the first quartile
xplicit: a,=a,+(n-1) : - .
g e : and third quartile of a set of data.
Exponential Formulas Mean Absolute Deviation
e Tt ey .
pr(mgntmi Equation :}d |, - ¥|
N égg}-g e

7]
The sum of the distances between each

Geometric Sequence Formulas ; -
data value and the mean, divided by the

Recursive: a, =ra, ;) :
— . ne number of data values.
Explicit: a,=a,r

Compound Interest Formula

A=P(1+5)"

Quadratic Formulas

Quadratic Equations
Standard Form: y=ax+bx+c
Vertex Form: y=alx-hyr +k

Quadratic Formula

T o
b xNb —4ac
o :
20




UNIT 5 CALENDAR

p. 33-35

Sequences p. 36-39

Study Guide p. 40-44

[—Day 1 Day 2 Day 3 Day 4 Day 5
Skills Check (F): Eq. &
Mulii-Step Equations Multi-Step Ineq. Graph Eg. & Ineq. p. Quiz5.1 (P
p. 5-7 Inequalities p. 8-11 Rate of Change 16-18 :
p. 12-15
Day 6 Day 7 Day 8 | Day 9 Day 10
Distinguishing Skills Check (A):
: Identify Func. Type | Comparing Functions Task (A): :
Eeiween HmeHons - Characteristics p. p. 29-32 Characteristics Quiz 52 (A)
19-22
23-28
Day 11 Day 12 Day 13 Day 14
Transformations Sills Check.(A): Review Unit 5 Test (F & A)
Transformations

Notebook Duel

You must show ALL your work fo receive a stamp (even for multiple choice)l

| can...

My t’vades this unil are...

@  Ican solve one-variable equations and inequalities. /10 Skills v (F: Eqg. & Inegq.
@  Ican calculate and interpret the average rate of change. :
. I can graph a linear equation or inequality. —/50 Quiz5(R)
O  Ican identify key features by graphing and analyzing linear, — /10 Skills v (A): Functions
quadratic, and exponential functions. /50 Quiz5.2 (A)
O  Icon identify the effect of transformations on a graph of quadratic
or exponenﬁa| funcﬂons_ ____/10 SkI"S / (A): TmnSformaﬁonS
@  Ican identify and write arithmetic or geometric sequences and /25 Notebook
use them to model situations.
/50 Task (A): Characteristics
/100 FoA Test
/100 U5 Test
Tuleving
AM (7:45-8:15) Room 213 Room 213 Room 213 Room 213 NONE
LEARNING LINKS LEARNING LINKS
N e (3:45-4:45) o (3:45-4:45) N




Bell Activity

Date: Date:
Date: ‘ Date:
Date: Date:




Bell Activity

Date: Date:
Date: Date:
Date: Date:




CORFFICIENT |

%@%ﬁ%ﬁ@&é

i
o

PRESSH

COMSTART

VARIABLE

Notes: Multi-Step

Equations

Steps for Solving Multi-Step Equations

C Clear Parenthesis {
C Combine like terms
on each side of the equation
M Move variables to one side
S Solve

A0

O15Ip A

o]

1 Kuuog yym yay. £q poul

>|—/\uua;—q;gm—uv/a;mg/woa'SJaqaea;AedsJaqaearmmm//:d:;:;q




Classwork/Homework: Multi-Step Equations

Directions: Solve each equation. Identify matching answers between
Column 1 and Column 2, then color the shamrock accordingly.

Doy kK
Avréeen k

Pink.2

gt 3.
stue

ool
wplos.

Ay < 6.
Blue

Yel low?

JrowWno.

,iﬂhJ— 2.
Green

R( 4 10.

13x + 7 =8x + 27
13% = 8x+ 20
5x=20

2x—1=7x + 44
-|=5%+ 44
~45 =S¥
Sx+2=10-9r
4% +2=\0
4x=9

2(4x — 3) = 4x ~ 78
Bx-L=4x-19
4x=-T2

12 — 9x = -3(x + 10)
12-9x=-3x -30
472 = X

8x—~2(x+9) =x + 47
@x-2x~19=X+47
LX-1=x+t4"
5x= 5
-5(2x — 6) = 4(x + 11)
~lox4+30=4x+ 44
-|4= (94X

13x - 33 = 7(2x - 4)
13X-33=|ax-29
-5=X
6x+18=7~{(4x +9)
~LX+\®=T7-4x-9
19 =2x-2
20= 2
10+8(2x+4)=8-x
10+ [ox+32=8-X
42+I1Y=8"X%X
Ix = - 34
=-2

_Coturnn 2 |

Red: 4x + 10 = 7x + 16 X=—7
-lp= 3)(
Orande: 10x-3 = 8- 39 X=-18
Z2x-%= -3
2%x=-3p
Yellow: -6x + 11 =7-10x = =-
4x+\="
4x= -4
Light Green: 4(3x - 1) = 5x + 66 X=\0
\2X -4 =5 X+ 0l
X =710
Dark Green: 6 - 6x = -2(x + 5) Xz 4
-L%xX=-2x~-10 .
(o= 4X
Light Blue: 17x-9(x +4)=3x-26 _X= 2.
Y -Gx=-2=3% -2
2x-30=3x-20
ax=to
Dark Blue: -8(2x — 9) = 20 — 12x x=|2
- lox+T12= 20— 12X
S2=%4X
Purple: 5x - 11 = 6(2x - 10) X="1
5x-11=12x- 0
49="1X
Pink: -7x - 27 = 8 - (x — 19) —
~1X-27=8-x+\9
-277= lx+ 27
-54= KX
Brown: 13 + 3(3x + 8) = x 3 X=-5

15+9x+24=x%x-3
Bx* 37=-3

8 x= =40 © Gina wilson (All Things Algebra), 2014



Classwork/Homework: Unit 6 Spiral
MEAN ABSOLUTE DEVIATION

Three steps;

1. Find the mean of all values
2. Find the distance of each value from that mean

- {subtract the mean from each value, ignere
minus signs}

3. Then find the mean of those distances

1. Find the mean absolute deviation for the set below. S ={85, 90, 68, 75, 79}

85 =50
90 = oL
g;g -1 ¥ =ty
=4
2 aq; 32"-‘
: -~ 5

e

2. Find the mean absolute deviation of the fulfilled items on Sherrie's registry. $29, $58, $15, $129, $75,

$22
29 ' 5.1
5? 3.3
l —54. Cisi g
|2 A 14.3
15 26.3
ot 2 =7k

i

29 5

5ﬁ7u=5¢1 =

3. Find the mean absolute deviation for the set below. S = {65, 90, 85, 70, 70, 95, 55}

10 4.3
5 9.3
1o | —1T51 &
70 5‘7
95 19.3
=55 20.1




Notes: Multi-Step Inequalities

Steps to Solve:
1. Distribute if necessary.

Simplify each side of the inequality by combining like terms.

2

3.  Move the variable to the same side.

4. Move the constant to the other side.

5.  Remove the coefficient of the variable.

"When multiplying or dividing by a negative flip your inequality sign.

Selve each inequality.

1) -3(3v+5) -3 <-4v-38

-Qv-15-3 £ -4v-39
~qv-19 <-4V -39

+9v +av

—=ia e - 29
+‘3% i

20%£5v
5 |5

v

-5+ 4t -8
-25+4k > —| + K
..-k -K

-254+3k > |
+25 +25

3k 224
= 19

2) Sn+3)>-19-5n
-5n-15>-19-bn
+5n +5n

=15% -9

NO SoudTiON

4} J-5p _4)a3 as

-35p-2843-4p

+35p +35p
—-729 <« 3 + 3|
—7, =4 ?
-3\« 3\p

e ]

3\ \

Fize)




Classwork/Homework: Multi-Step Inequalities

Solve each inequality.
D) 4+6x< @x?—ﬁh
U ¢ 2+2x+4X

H4+(o¥ < 21 pr
—{oX X

W2
ZTVOE%uXHDQQ

3 25a+7)-4>3a+7

~[oa—I4-4 >-5a.+ "]

—0a=10 2~5d.+ 1

—1% = 5o 4]
— =T 2

~J5 >of
5 < |
[-5>a]

3) m} > 81 — 36
L'n,\’z >6h'8(9
4 =n
— 23Uy =3k
=

vl
4

1u>ﬂ‘

in
H

2) =32+ 4n < 4dn + 4)
-32+4n 41(0“"‘“”
n

4) 2 - 2
7- 7r+H> 5r+32

~Tr+1f 2-5r +37
1F Fil
e 2> 2r —\’32

,’57_
-l > 7f

£

ot 2@:%? N
- {p ’SXégx-—bx_L{'

—{(-3x = ~-3X—Y4
+3x 13X

~Le-%

En'ﬁm{—@ Qa\bt\—‘toa




Classwork/Homework: Unit 3 Spiral

% CHE(K FOQ (?Cf* Write in factored form:
Identify a, b, & X )i )
and ¢ Does : :
Use the X B a=1? Qse grouping: splif bx Write in factored form:
i 404 using your numbers from ] Iy e
the X.
Factor each completely.
1) 66% — 245 — 360 = b (N"*=~thn— GO) 2) & — 100
0 —
. —100
g d 2 W
l% (b (n-10)(N+ W) oie
O
(a-10)(@+10)
3) 3n° — 10n+7 4} Ta = 3ta+ 12
71/ o jdgent To% 3ot 2Bt
-3 (3n-T)-1(3n-0) 3 28 g (1a+3)+4 (1a+3)
-10 ‘
] (h-1) (8n—7{/
(a+H(a+32))
5) 27 +5x—7 6) 7. +56-2
My 2xP T 2%, I I Ibr2b—2

RENSSD) (o2 (o+)]

10



Classwork/Homework: Unit 3 Spiral

Factor each completely.

1) 12" +426-24 2 o (267+Tk=4)
= 2+ A 1=
a Z ke ( K-+uy) — (k)

1 l(, (2 —1) (K+L\)\

e

3) 125° — 78n — 42D
_—<Zn 12 —10)

(19 2n*-20n4 TN =10
1 2n(n—-(o)+"1(r\—tc3
_,5

b(2n +'z)(n~\o)\

= .
5) 5n° — 22n +21

572 b ~\50~7Y\+2‘
Hoel o

"

2) 28k — 44k - 24

1 (1et+2)(k-2)
4) 2x* +21x+ 10

26 2 2 70X 7(+\O
20X o
7% (x+10)*\ (x+10)

6) —20x" + 184x — 36
g (SY 4%+ )

us 2 q5X x'\'c‘
_45>Z:\ ‘5/’(/’—"—*”3

O B =)

(sl |

8 7 1z 6

BZU fadial
FI —
N Tx) b U

W@)(Xﬂ)




Notes:

Rate of Change

From Two Points:

If you're given two points

(@;,%gﬁ) and {?ﬂ,%ﬁ)

Ro=%,

“iﬁ"“’gg
- [
L

(-2,4) and
X Y X

(3, -6)
YA \IQ_

1Y
S

From a Graph:

=-3)

Finding the rate of . x&;
change on a graph is _ | % 3
= =
catled: £ \Qé, - \
= ¥
I 14
RISE over &0 E h ET .
E G . -4 1% W g o3 o4 :
or § : !
|, & !
RISE . e
2 F f A B B s A am” A
Figere Mumber “Ey %
%r‘r‘fﬁ“& £ H ot G MatkieePeares £ -
From an Equation: 3x-4y=8

Standard Form
Ax+By=C

3x+2y=8§
-3x -3x

==3x+ 8§
2 2

Slope-Intercept Form
i y:mx e b

o

y= -—;x +4

{To graph:

{Go up 4 units from origin (0.0) then
! “rise” -3 units and “run’” 2 units
\w

down 3 units

From a Table:

Ax Hours

Distance

iy
i

Slope =

_.P{} miles

-1 hour

Changein y
Chamge inx

Ay

% e
LhE

=80 miles per howr

X b
0 s =
2 11 &

12




Classwork/Homework: Rate of Change

1) (8 @8  slpe= 3 S kake B
5"5 = Z:__. L/’(—Ll') :_ﬁ
= -
2-¢-v 3 e
3) 2x-4y=12 slope = l/fl/ 4) 3x-y=7 slope = ——3
=Z% = 2% +3x 3A
Uy =-2x 12 —y=3x+l
= =
— ’57("7
Y=3¥-3 Y
42
5) ( 6) [ x|[2]4\ 6] 8]10/12 14
- 4 e vy |31.8)13 18 23]|28 33
-4 12 =
S5
-2 -6
|8 0|~ =
’\'Z< 3 Al siope = -5 Z slope = EZZ.
2 6
4 .
7) B ff? ‘,\:4; 8) t\; “ = i’?
T +5 |
NEEEF 4 ** X C&T.: T >
AT g v WL 5 N T A slope = =D
¥ X !

(e



Classwork/Homework: Rate of Change

1) Find the average rate of change given the interval [0, 1]. 2} Findthe average rate of change given the interval [-1, O1.
Y Y4

= T A P 1 *x
4 v
3)Find the average rate of change given the interval [1, 3. 4) Findthe average rate of change given
: the interval [0, 3].
Ay kx
M f 1"&& Bt EEE L L e s S =
/ Z o

w ¥
¢

i

14



Classwork/Homework: Rate of Change

Find the average rate of change over the interval 25l

1) y= ;?“;“‘{‘—4
3
y:-{l'g_-(zJ_q_ 2.4
y:g—:—(5)-_4 =1

(2} '2“\)C5> &, )

5 T e U

U=fan) o8 =
e -0 ,511

e 8 =
- 5 -3

\/: —%(Z""B)’)—"f‘z:——"[%

= "3(5+3)2+Q: ~190

(2,-73)(5, 190
gL 1= ;—..U&l = /’3‘7

i ek
D fx)= ~-3

el o3t =45
?(*):-12—935: ‘z\ T
(2,4.9)(5,121.5)
(2. -‘5—"}3,» 11 - T=zal
57 = m

5

e
=z =l

(z, BY(5 275
s T
s

£y p—% | M0
=(2)47(2)+2= 10
y=Sy+2(s)+2=
(z 10 D

STip_ 27 [q
52 o

6) y=—20x—-4) +4
Yc'2(2*4>1+4 0
Y=y 1l

(2,-4) (5, 2
2-(-4 = o =
5(/2) s '2

= o % o 13%‘

8) flx) ; 5. ig
£00=5(1) = 125
£00= 5( Y = 5u25

(2,1.25)(s, -1562S)
0‘6@25’1.25 :a05\25

5-2 >
e




Notes: Graphing Equations & Inequalities

Steps for an Equation:
1. Write in slope-intercept form.
2. Plot the y-intercept on the y-axis.
3. Move from the y-intercept based on the slope (rise over run).
4.  Connect your points to create a line.

Steps for an Inequality:
1. Follow the steps for an equation. (Flip your sign when you multiply or divide by a negative.)
2.  For<or>— dashed line
For < or 2 — solid line
3.  Shade above for > or >
Shade below for < or <

1) 2x+3y=-3 -
-7x To=2% > = 3
AV
6 2
£ mame)
5 Y 2 \
= .
“\.\ .
= & :
Tk 7 2 ‘\ 3 5 8§ x
: :l N

& =Y
= . ==
2) %;-%—éx —Y :‘;[ = -] &—Fip S'\SV\
Nty ¥ >2x )
: | Y
s - 11 7 T
. 18 =2 - .
T H El | oDaSth Www

A

P s ] Y 3 ‘. T ‘%ad( A’lrove:elrf’a‘@'(

o
T 5 & x

\

1

1 411
-~

:

4

A
_Jr‘
\
j

16



Classwork/Homework: Graphing Equations & Inequalities

%0 —x—-1 = 2) 10y+30=18x —s |0V =|BX=-50
e s
| et
4 :’EX’E 4 )’.,5)( =
<u i - TR /‘:/'
sEE
BEEE
=4 /,/
9 dxt2y=2 —>2y=-UxX 2
x—~| = H% = 2

Y:—— 25 = i

A
3

S
\
= \
iz_x T 3 ;—7 V£-2x-3 : 611;~41 ___5_3_;{) :) :L‘gi ':Z:C +:Z‘.-—to
/,\ ‘ soug UNE "Y"Z“X’ET
///\ : S ADE | - // /I T
B i Beow : | couD %
= : ‘ : / , SH%?/%W
T ' EEL VRS e g = 7 W > D
N SEw A
i S in LR
A |
LT LUV VALY
WA PN )ﬁ W\ 0
" vy

Tl



Classwork/Homework: Graphing Equations & Inequalities

, g | 2 =
N y>—-x—-4 8) y£—x—35
o ,:}

18



Notes: Distinguishing between Functions

Linear Funciions

y=mx+b
¥ = {Slope]x + y-intercept

slope = # you add/sub each ime

y-intercept: starfing amount or y-value
whenx=0

Quadratic Funcilions

y=a{x-hyR+k
¥ = opens{x - x-value)? + yvadue
{h, &l is vertex

y=ax*+bx+c
y = opens(x?) + bx + y-intercept

*Use the axis of symmetry to find the
x-coordinate of your vertex: x = -b/2a

Exponential Funclions

¥ = abx
Yy = y-infercept{constant ratio)

y-intercept: starting amount or y-value when
%x=0

constant rafio = # vou multiply by each time

vy
el

i

y

Niggahve
N

A

\U/

-tpans up
i 15 POS'ihV@

-0pUNS down
—r 5 ncgahve

- Reflection over
X-aX(S

19

x (—-/j

grg wih

° 3Y OW'\"’\
"‘\\oreﬂccﬁov\

lum

X

: X decoy

S .

gV
. £ detoy

I - &t\fchon
© 0symptot




Tables

Linear functions have constant (same)
first differences (add same number over
and over).

Quadratic functions have constant
second differences.

Exponential functions have constant
ratios (multiply by same number over
and over).

linear Function

x ¥

5 2 4 “
4~3g% = - €~§
+3( 8 e
o S T 2!

Guadratic Function

Scatterplots: Identify if it is linear or exponential and growth or decay.

e B R R o

?%”ﬁi}?{‘?‘{‘f{gﬁ-ﬁ s

Linear GrowHn

PRACTICE: Classify each equation/table/graph as linear, quadratic, or exponential:

4
a. f6d =3x% + 2

Quadratc

Exponential Function

X | ¥ x | foy=203)"
0 3 *&s*’ﬁ\& 1 6
rd w2
% ¥ &, o 2
—p = LIk ‘“g 2 18 }m
12 +1(3 = ;)x:a
3 [ 8 & )2 — )x 3
— Ny 5 & i A 162 )X
4 L
30 =
s 2 2
» = -
g T 20
H bt *
§ b * . Lﬁ“ ‘gD L ]
g . = =
2 - % & 's,
time [yr} - ";T’ao 1750 1800 1850
Yagr
pecay Growth

¥
b.y=5"

Bxponential

d il e. Time (h} i 1 2 3
5 Bacteria 10 ‘20 .40 .80
: LmCar X2 XZ X2
Y
Product Prics and Revenus
g. h. PR
x|{-3|-21~-11 6111 23 % f
£ 5 011 0 LS53R I 2l :
= 3 2 Lduduid !
=8 =| 31 %3 45 47 jroLs |
v N/ WV /N = ; 3
+2 +2 %2 *2 T ARy
BET 3
&

Quadratqic

Product prive (5}

Quadraho
20

ciflx) =2
Linear
f x v Linear
2 7
1 § >'3
- — =5
S
2 -5 —5
i el
8
N
2;
JSSmEs
= = o 3 >

TYponewhal




Classwork/Homework: Identify Functions

Part I: Classify each equation as linear, quadratic, or exponential.
A fx) = 402 +1 B. ) y=4x2+2x -1

Exponentia) Exponerntiol Guadratic

Part II: Determine if the following graphs represent an exponential function, linear function, quadratic function, or neither.

7’ j 3 : T E
£o.03 '“:“ %la &) 2, ?)%él ! § ! A ‘\0 2 ;1
&{:3 té. "1{; ;}H ¢ ;é\?:\ Z ®
N0 NEEE; §ONTTE N ATNX s
w8 s 1O 4 g we g ‘SS;\‘., ) W, b 3 \”,« - "‘1“
c MR TS 2 {1\
o al iy q :
e o 19 i & y <
Quadraic Linear Neither Exponential

Part III: Determine if the following tables represent linear, quadratic, exponential, or neither and explain why.

— e

¥
X ;4 Volleyball Tournament : .
olleyball Tournamen & f(x) = 3{§§j
= F Round | Teams Left
‘ 3 42 1 6
% 3 : > : 1 H
e Bt . /2:“‘ 2 18
0 z [ G Pl 2 8 1
-+ s & E Fa /2 2 54
1 k. 3 4 > ,
A M & +2 "\'l\ ® y ool
\ 2 5 = 4 4 2 4 162
Quodratic Exponentiol Exponentiol
Part IV: For each table or graph below, identify if it is linear, quadratic, or exponential.
5
: -3 =2 =11 0 i 2 3
o / % 4 v 8 \/Efi’ﬁ\/ 32\/&2‘%\‘,523\,2,‘;@
L. ‘2' -2 '2 '2 L4
= Type: @,(@d[@h‘([
/
jj/ -3 =2 -1 0 i 2 3
¥ o s el el & 5|0
LR B N -
Yy
2 =7 7 Z Z



Classwork/Homework: Unit 1 Spirall

Directions: Simplify the following

polynomials. Answers must be in standard form.

L0+ 2¥x+7)

2. (x+8)(x + 3)

3.(b+4)b-2)

Y24 7x +2% +4- XZL2x+ox+24% b’).__Zb.\,qb—g
XQ—P%H—\?\ X2 X+24 | b*+2b—B]
4. (w-7)w + 3) 5. (m-5)(m - 2) 6. (y— L)y - 3)
W 2+ 3w-Tw 2| m?-2m-5m+10 N2-2y-|y+3
W 4w—£\ Fn2—7m+10 rz '—iy+’§}

To(2x+3)x+ 1)
2x%42x +3x+3

[2x%+5%+3)

8. (k+4)(3k + 2)
K242k + 12K+ D

Ba \‘-\-k—@

9. (4m + n){m - 2n)
YUm % @mnh+nm-2n%

fm -T1mn — 'Zhﬂ

10. (w + 6)(3w—-4)
w2 Hw+|pw24

3W v —ZL:}]

11 (5x + 3)(x - 2)
5X*—10x+3X

(5™ Tx-1)

12. (22 - 4b)(7a — b)
|Ha* Hab-280\=t81

4a*- 320+ 82|

13, {xw; = (X-+HYX+D
X x4+ Ux +16

14.(a - 3)' = (a—-3)(a-3)
a% 2a-~3a. t9

15. (4m + 1)%=( Hm4+1)(Hm -+
[ m™+ 4p+Hr-+]

[

+%x+tC| fcﬁ-uaﬂ I(pm2+?>mm
Directions: Simplify the radicals below. + -
1. 1252 2. xfz‘s@s@%‘* Vi =y
ZS/E‘\ 12_@ L‘q 5 :
=5 @D
r’/w}a
3. -3:100a6%2 4. W V&0 Va%, \/'12'5 N2
b V5 @ Vob cnc
-3-10 b3 Jeo D & &

IW

5. 512,51 \/"q ,("42 \/‘7677_ 6. -2 zgzgw;m VX% ym
. \,z. Pl i’ AL xzy\x
% 5 q
= o ~2-IXWBX = |<1,x12y W 3Y
//Wé}@zg—fp / [ \/3X)

%




Notes: Characteristics of Functions

Av Domain A'” RC“' #FS
: e Range 11 Rcal H#S

| “ / ” End Behavior.
IR EFE T ,. As x decreases — Y __dm
' As x increases — Y __]_nL_ﬁQSL.S_,

A

-. 44444 | i = x-intercept(s) ( 1.5, O)

Tt A 3 1 g Y-intercept (D 3 2—)

B HEECE Asymprote N /A
¥ L Growth or Decay @VO\Ni'V\

: =k , Vertex N / A
SENE ¢ S A S B R Axis of SymmeTry NJA

e L Mlnlmum/Mommum_Ml_LWhenM!A—

Domain ___ A\l Real :‘:\"5

o S e Lo
2 2 - 0 4 & o Ronge \/ £ 2
k. S leeaEe o - Behowor

As x decreases — Y d ely E,QSC

BEZiEEEE Aoninaredses ey
_____________ EbEE RS ciferceptsl MO
;f 1\ y-intercept (0, =10)

Asymptote

T iy ‘11 : Growth or Decay s
st  — Axis of Symme’rry X=2

s o = Domain A\\ P\ﬂﬂ\ *—\"S
T T \/ 5 -7
| e End Behavior:

As x decreases — Y \ ncreafe(

As x increases — Y aDDYO aChC(_"2
x-intercept(s) (2, 0)
Y-intercepf (0_. Lp)
Asymptote \'I =
Growth or Decay D€c( &\'/

1R , — Vertex

R Axis of Symmetry

Minimum/Maximum == when
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Notes: Characteristics of Functions

Domain _A | Eﬁal HS

2x +y=5
~2% | =2X% Range Al BCQ‘ :ﬁ’S
End Behavior:
\/ = -2x %5 As x decreases — y ‘IHUPan’i
- As x increases — y gﬁ (& QQS@
0 < ZK +5 x-intercepitl( s)i /2 0)
":_5: "}_)_(_ Y-intercept (0 5)
=L =% Asymptote
X Growth or Decay Der O\\I
) \ Vertex
Axis of Symmetry
Minimum/Maximum when™———
fix)=3x9+ 7x-6 U Domain A“ ﬂ(q| ¥S
-2 p s = L Range \/>"‘lOO%
x 24 2(3> e End Behovnor :
0N = 3("_'/09) = ‘7(——'yu> - As x decreases —y_LNCYeas 5

£()=-10.093

As x increases — y

x-intercept(s) (?/3, O) QDQLE,D)

intercept (O 3
X- W\"'WCQP*&" -.-—-’—‘:‘E—-l—‘——' Z\symp’ro’rz
X= - bivk*—Hoc - Growth or Decay
= = x=3, 3| Vertex (=, )-(—(_o _(3/833
-1+ @i XY (3)(-—(,;} ) Axis of Symme’rry (7] %,
X= 2_(3) Minimum/Maximum MIN  when X"lo OBD3
y =201 3 +1 Domain A’\ \ Beal ﬂ'S
Range_ Pe |
End Behavior:
As x decreases —y __ | NCYeaASeS _1_
o-3 As xincreases — y _APPYDOANES
y =2 (Vz) F \ x-intercept(s) ___ N ON¢s
Y=\ Y-intercept (O; \7)
Asymptote = '
Growth or Decay Df (Q\I
Vertex

Axis of Symmetry
Minimum/Maximum

= Whep ==
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Notes: Average Rate of Change

{m = ¥y ~ax )
X,-Xy AX

Identify which function has the greatest rate of change over the interval [0, 21.

f(x)=2‘(2)x”+’l 17-5 g(x)=xi- 6x + 4 4 h(x) = 3x - 1
267 G5 0 - L(o)+4= gty =

( >2+"‘“\ Y 22 =flz)th= % 210
22" 4 =11 | (0,4)(2,-) (0,~)(2,5)
(©,552, MY =46 ~4-4 8] -V _ L
% Y, X2 Yo i 2-0 2 I 52£o —

Given the graph below, identify which function has the greatest rate of change from [0, 21.

thbd-10t——rf
__g f(x)
F
7
{f
¢
-5

x f(x) x g(x) x h(x)
== ?\ - ' —5 | - | 0)
0 f: ) +'2< 0 =5 )+lp 0 1
SNg E § i e s 0

2 G 2 it 2 3

3 27 3 4 3 a8

4 81 4 i 4 i5




Classwork/Homework: Characteristics of Functions

& L. What is the domain of f(x) = 2°?7 A 3. The coordinates of the turning point of the graph
— of y=2%—4dx + | are Ly vev +€){ e =
= (— 4 ) = :_'\—- = l 2 2a-
A, all integers all real numbers 2(2) =1 Y=2(D=40)+\
a1 B. @, =
C. 20 D. <0 o= =l

¢ (~1,5 X o5

O 2. Which diagram represents a relation in which each

member of the domain corresponds to _only one B 4. Which is an equation of ic axis of Symmetry of
member of its range? the parabola whose equation is y = 3x° — [2x — 137
—-'_’_b__ - —(‘l2>=\1_2
2 0 2(3) [#
A, Al v=-—4 x=2
' ~=>7 ) e o« D. x=4
B. y DS. What is the y-intercept of the graph of the

% . ) s
parabola whose equation is v = ¢° — 2y — 87

/ 4o 2080 8 7T

4 : : c IS
: »}/ (4,0) B. 0.4 &j"‘ﬁ*'-
-7 7 ©su ©0.-8)

Cﬁx What is the slope of the line whose equation is

: Sy = 2x + 107 -2
@ y =% Ti*s0 o
A

.

v v > o~y
The roolg of the equation 3x* — 27x = ( are

FHIN]
~
Lh

Pt

‘m/ > X A

¥ “hsolve, BX(x—-9)=0
@ 0 and 9 B. O and -9 _3’)_(’ _Q
/ S 3
o =

- Dand 3 D, O and -3 X
D. y X—4=0
‘ 9 (X=

C/S. What are the x-intercepts of the graph of
: Sow<€

e

A. 1and —¢ B. —1land z
@ “: and *E 1, *% and
-24 2
== X -2
IPAVE [2% -5+ D :

S\ 4x (3x— )+ | BX =2)

Yt li=0 329
”X;‘] 3—)-(:-2'

26 Yooy e




Classwork/Homework: Characteristics of Functions

The following is the graph of the equation v = x7,
in which v is a function of x.

cg.

¥
A &
\
R !
o LB
onged
s ) 4 ¥y
A4S 3
e & M\
d o7 | RS 2*,}: 3 :“;”x
3
L

Which of these describes the sange of the
~ . & T—
function? ==

A. x is all real numbers

B. s all real numbers

@ 20

D. x>0

A 10.  Which ordered pair is the vertex of
flx)y=x*+6x+ 57 =

-

(-3, -4 B (=2.-3)

(-1.0) D. . -5

——

gz

(3)%+(E3) ¥S=

—lp 1

27

AI], Look at this graph of a function.
p

4 ,
y 4
4
3
2
N

-3 -2 -1 = e

v

What is the domain of the function?

S
all real numbers
B. all real numbers greater than or equal w© 0
C.  all real numbers between O and 4

D.  all real numbers between -2 and 2

Paul graphs the eguation y = 2%,

Where does his graph intersect the y-axis? (O > ﬁ)
—_—.

A (0,0) W o€ 0l D ag

Which is the y-intercept for the function f(y) =

(=6.0)

@ (0. —8 B.

C 7y B = 0

What are the zeros of f(x) =2 + Tx+ 59
ZEX08

houad formujor

7 4243 —7 +2+/3
{28 = Y

- {7:&2«’2‘?@} {—7:2\/”2’6}
x=1ENAEIWE). - -1E7
21D =




Classwork/Homework: Characteristics of Functions

6 15.

B 16.

17.

What is the y-intercept of the funetion
flor= L@y A i
fan +(20—4) = -2

A (0,4 (0. -2) Ll

What is the minimum pojnt of the graph of
yo= 0 447 o Ly vexvt+ex

Ed e — : Rt
X=3m=0 y=ohuu=\
A 20 B) 04 C. @0

A relationship is shown.

y

&
5 .
/
%
s} 4
Z 7
i X
REEE 2 1414
‘.
+
5

As the value of y decreases, what happens to the
value of «?
@ The value of x decreases.

B. The value of v increases.

C. The value of x stays the same.

D

The value of x increases and decreases.

28

c I8, Which statement is true about the functions
fx) = ~15x7 + 32 and g(0) = ~17:2 + 5x + 327
a——— Smp—y
Y- N &—
A, f(x) and g(x) have the same zeros.
B. /(x) has a higher maximum than g(x).

<C<) S0 and g(x) have the same y-intercept.

D. f(v) rises and falls more sharply than g(x).

9. William wanted to compare the minimum value of
= = 5 ¥ e —eea—
the function y = 2x* + 61 — 3 with the minimum
value of the function graphed below.

b4

“E{ P

0
~i
e
s
%43
N
1)
£
8]
b

[l =233 #4 a5 %6 7 55" | ¥

, -
vvvvv =65

What is the value of the smaller minimum?

75 B. =65 1
=lp b <5 e
= 2 ‘

Y= 2005) vulisE 3 - -1



Notes: Comparing Fuuctions (Linear, Quadratic & Exponential)

For the following functions, create a table and graph each function in a different color.

c)

Linvear Quadvanc Exponcntiol

X y =2x X X X y = 2%

0 O 0 9) 0 é

1 7 1 [ 1 :

2 4 2 4 2 4

3 (b 3 o 3 9 A
L

4 0 b ¢ 1o §

T ¢

7 N
¥ ‘(050\
~32 -‘ i)%
30 7 XN
,,,,,,, 23 7
b P e
= =
18
~16
....... Ea //
] B s i
s .
i W - eALINCAR
= : _— —
s //g""’
) '/ et .
il X
| 4 ; - : & i
Which function shows a constant rate of change in its y values?
Lintar
Which function is largest between [0, 31?
Quadratic
Eventually, which type of function shows the most rapid rate of
growth in its y values?
— A ==, Take Away: The graphs of
o
UXF onental v““i:’mgj,/ exponential functions

%“N eventually
e ““;ﬁ/exceed the graphs of linear
29 ~  and quadratic functions.




Notess FUNCTION TABLE COMPARISONS

Example 1: Identify if each model is linear or exponential. Then, write an equation fo represent the scenario and
complete the table.
Model 1. A prize will be awarded that begins with $10 and increases by $5 each week for 8 weeks.

Week 0 1 2 3 4 5 6 7 8

to 5120 |25 | 2c | 75 | g [UE | e

Model 2. A prize will be awarded that begins with $1.50 and doubles each week for 8 weeks.

0 1 2 3 4 5 6 7 8

1B sl |9 |18 |8 | T2 | 144 | 228
For which weeks is the prize better for model 1? When is model 2 the best prize?

O -4 weeks 5 or more weeks

2. ldentify whether the following realworld examples should be modeled by g
inear, quadratic, or exponential function.

Real-World Example

Quadratic
Exponential

< Lineor
.
g

Each ink cartridge purchased for a printer costs $12

%

Throwing a ball

s
3
3

The amount of money you eam when you get paid an
hourly wage

A bank account balance earmning an annuadl interest -
rate &~

Q
o

Maximizing the area of ¢ rectangulor fenced area in
a large field

&
0

Population growth of a city

30



Classwork/Homework: Comparing Functions

Determine whether each function has a constant or variable rate of change.
Use rates of change to determine whether each function is linear or nonlinear.

1. 1 +72 S 7 2. +5 4l 41 u2

A A A A\ A‘ N %
x PRSP R T COWW+ x 3 5 4 6 s Vavigble
¥ = UnLar v 4 L6 | 8 4| W Nonlinear
B *e o= 42 Gl -2 Wl Ay
= +% +o '\'/% 'HL’ .. +2 +2 +2- +2
5 e CR 5 5oy /iy 7 : 7 (4 /’
- Q 3 g i 18 x R - _4 = 0 VaViab‘C,
¥ 14 | 12 8 6 2 v 3 1 3 5 g =
AL, \—/ SN L o 1 - - - n r‘
-2 .—\-) -2 fg‘ +4 ¥ 52 + no “Y)‘ea

CoOVStant Lirneo v

5. Complete the tables for each function below. Find the rate of change over [0, 4] for each function.

Linear Exponential Quadratic
y=5x+10 y=14+5" y =53+ 5x
b 4 y X Yy X Yy
D
T i Lt 2. b 0 Q?O(/:/E\;lz
1 IS Y[ 1 Lo “‘t\ g |O
oy EEE ERRG BRPTE. e
3 /L‘Eu/ : l’LU‘)/ % T o
b ¢+ |20 N4 L2y NE

Rateof 720 (pz'-l_ 100
i T B ¥

Compare the rates of change. P\[th\f&V\’HfJ L 3 Quad ratic Uneax

(Greatest to Least) e

6. Three functions are given below. Complete the tables and find the rate of change over [0, 3] for each

function. Linear Exponential Quadratic -
y=4x+10 y=14+4 y=4x +4x
X Y X y X Yy
0 10N / 0 7 , 0 0~

: (4 ) 12 : 9 3 1 ®
[ 2 8B e e 2 2
Yy 7| e (5" Y3 HES
s a2y R
Rateof |2 _ L"' s - 2 ‘:g- =1

change e 3

o)

=t

Compare the rates of change. A NZdy . @/\/(ad kalics 'EX lV@V\@V\’hC(J/

(Least to Greatest)
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Classwork/Homework: Unit 1 Spiral

Simplify.

1) =53 - 34/3

7) —-24/45 ~ W’;\{; =

&

—2-3{5-3-25 -2V

~VE —~WwV5-2V¢G

(125277 |

32

é}m ] f——
2) 28 - /8

6) —3V12 +3V3 + 320
= ES
—3. 23 +3{2+ 325

(B +2E+ 5
[-33+ 615 |

e
8) V6 V2

WQ"E@
@



Notes: Transformations of Funclions

Quadratic Expenential ‘
= alx - h)? +k =alb}-h +k
y e Y=, ‘a

| e |
()Reftechion () Lerk (4 Up ( ()>vrc€r cges?w?go*c & o

OveY XAKIS () @\g\(\_\. (-0owN|G>1 Strerch (=) Dowin
oyl stredkoh il e e
DeaL) shrink SRt

Horizontal Shift |  Vertical Shift
| (Leftor Right) | (Up or Down)

Equation Over -

 Shrink or Stretch

2 | Yes,over | Stredun

ly=-32-4 =
y 7 Ieois pie |0t et
2 Y::ZC3>X+:.2, y =3 No Stretch by 2 Left 4 Up3

i w3 X ¢S J OVU SﬂY’\ﬂk ‘
s | g | o] bt | Right 3 | pown 5

= Z 55 Yes >
4.7_ qQ(+2_> _\_(9 Y =X MRy Shrink by a Left 2 Up6

Given the function f(x) = 3x* + 4, describe how the graph would shift and write the resulting function.

5.y=flx-2) \ngm—z 6. y=fx)-2 DOWN 2
+y= 22y ¢4 £x)= 22+ 2

7. Write the transformation of y = f(x) when the graph is moved 2 units to the right and 4 units up.

£() = 3(x-2) + 9

33



Glasswork/ftomelworvk: Transformations of Functions

 Horizontal Shift |  Vertical Shift
| (eftor Right) (Upor Down)

Parent Reflection

Equation Over Sh““k“ Stretch

2.y== 3(3 y = 3 g:ysr;g:;; Stretch by 3 Left 5 Up 3

s 2 - X2 Ye;’;;?g S‘;—\\r/e-\—;h NONe. Up3
y= -4 (x -7__) y=x Yes)fcv)‘z; e | Shrink by % Right 2 None

5. y=3/,02)%-3 y: 2" NO S\T;M;Z:» NOne. Down 3

6.y=(4 ’“’“’ y = () No Noie Left 6 Up3

7.y = (303 )l = Zx NO 6‘;3 nykz Left 3 Nonhe.

8. 3:-2(;(—3)'2 e Yes)’(f’(:;:he Sirichibo Right 3 o

Given the function f(x) = 3x? + 4, describe how the graph would shift and write the resulting function.

9'y=ﬂX+‘$“) F—‘(\Oaﬁ(x‘rq)z—\—‘-ﬂ St 7Down \F(x) 5(x+2) 1
let+4 2 £y

1. Write the transformation of y = f(x) when the graph is moved 2 units to the left and 3 units down.

£0)= 3 (X+2) ~+1
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Classwork/Homework: Unit 3 Spiral

Solve each equation with the guadratic formula.

Iy m>—5m-14=0
a=l b=~ c=-I%
X= 3 FVesyai Y
20N
e SR
2. \

J-s »l%;

~[2]

3) 2m” +2m-12=0
da? b=7 t="la
y= "2 4D

' —7 {00
i 7 25

5) A +4x+3=0
d=i b=1 ¢=3

¥ = =3 IVEE 4 (OB

\Z“C \ \> L_i 2 v‘-——_"_—"—k?
- e Vo
e s Y & e = ;L:Lj

i

7) A +8b+T=4 > 4,2 +Qb+2=0
C‘u'L’? b= gg c= 8 '

Y= =% T2 4u(3D
i 2(H =
“%T¢3 3

3 \&‘Z;EQ“EE

2(=2>

35 /X:7iu

) B> ~4b+4=0
az=l b=-4 c=Y

Y= LAIC O HRE

2l
S =[Z]

Y = “l""\r—’

4) 2 -3x~5=0
g0 L--2 g%
Xxs BB Wz S

sgia e
e zmg > 20{502e

8) 2m’ —Tm—-13=-10
I l=5= O
G0 -~ £ 5
e TN %
G 2l

s

Eie



NOTES: Arithmetic & Geometric Sequences

Information

Arithmetic

Geometric

Type of Function

Linear

Exponertial

Created by...

Adding or Subtracting the same number
each time. Called a

differences

Multiplying by the same number each
time. Called a

fotio

Explicit Formula
(allows you to find nth term)

a =a,+dn-1)

o (™M 4 value

n

o 157 dorm

1

n: “’OVVY\ VH/(YY\W
o diffarence

g. =gt
a: " Yorm value
o = e

" o410

Recursive Formula
(allows you to find next term)

a,= first number
a.=0 o+ d

4 ﬂd/h ‘\"O(m value.

Q= first number

qn = I'(cn —-1)

o: N derm value,

o 4erm kefore NM
Torm

F YOoe

Generating a Pattern

Find the first 3 terms: g =4+n-13

Find the first 3 terms: a_=3 . 5™

1 4. 1 3
z T z 15
3 10 5 75‘

Converting to Function Form

Convert: g = 4+(n- 31)3

)= 4+3%-2

l({x): 5X+| i

Convert:a_=3.5""

flo-2157Y

2A




NOTES: ARITHIMETIC & GEOMETRIC Sequences

I_ B |
Arithmetic Geometric
Add or Subtract by the same number Multiply by the same number
(common difference) (constant ratio)
Explicit:a_=a, +(n - 1)d Explicit: a_ = a,er™”
Recursive:a =a , +d Recursive:a =rla_)
n n-1 n n-1

For each of the following problems, determine if it is arithmetic or geometric, create an explicit rule and then answer
the question:

1. Inthe NCAA men’s basketball tournament, 64 teams compete in round 1. Fewer teams remain in each following
round, as shown in the graph. How many teams compete in Round 6?

Explicit Formula:_An= (.DL"CVZDn—‘ a,.__ (;4_
on: Oy, = o4 (/o)) -
Solution: : lo— 2. y = '/z,
% 2

@ Round

2. The odometer on a car reads 60,473 on Day 1. Every day, the car is driven 54 miles. It this pattern continues, what

e

Teams remaining

is the odometer reading on Day 20? a : - (DOL‘_—?& d - 54_
Typezmmu an: (004'73+(h—'|)'5l+
Explicit Formula: = +54n =(0473+54n ~-GH

Solution: a?_o :(OOLI',CI"'SL"(ZO)
025 = (499 |

3. To package and ship an item, it costs $5.75 for the first pound and $0.75 for each additional pound. What is the
i - .
cost of shipping of 12 pound package? On= 5"’75’4—-(0 ,\) G—,S

Tyee: _AVithme O = 5,5 +01Sn-0-15
Bt e, Gns G 5SR-S

Solution: aiZ: 0.75 02) s

02=%14]

4. The table shows a car’s value for 3 years after it is purchased. How much will the car be worth in the 10" year?
Type:_QEOM LIV |

Explicit Formula: A0 = |DOOO(O.8)YY‘ Yim wji“;f
soluton:_Oio= 10000(-2)'"™ 2 2,000

[g L B \,5"\2~\§\ 3 6,400

S




Clagsswork/Homework: Sequences

For each of the following sequences, define the first term and common difference/constant ratio. Then create o
simplified explicit formula and recursive formula.

a. 1,8 15... . b.4,0 -4.. c. 400, 200, 100 ...

T Aitmenc ™ mithmeno |7 Geomervic,

Explicit: O, = ! CL:7 Explicit: (1, = 4 d=-H Bxplicit: A, =400 =Y

A = | + (5] Qn:4+(nﬁ:‘%) ==
e im0 400 (%)
e e § [an=-tn+e |

Recursive: Recursive: Recursive:

Qn=Chn-1 T i =n- ~1 0= £(dn-)

@ Seats in a concert hall are arranged in the pattern shown.
How many seats are in the 15™ row?
du=idy =3

Tyoe: AlHMEHC Op= Lo+ (n—1)3
Bl Formile:. Dl OB T o B
Solution: i = 3(1I5)13

A\ =40 Q{?&JUS

@ Three years ago, the annual tuition at o university was $3000. The tuition for the next few years can be modeled in
the table to the right. Let the year 2016 represent year 1. 2200

Type: J\%‘;O\ ety ., = 9000 (=250 Tea Siion

Explicit Formula:_An=2000 (1. Dnﬂ = || 2016 $3000

a. How much was the tuition in 20132 _F 2049 .O4 2017 $3300

b. How much will the Tuifioir:]k; ;%207 $ 2495 2018 $3630
=]
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Classwork/Homework: EOC Preparation

The solution to the quadratic cquation

22455 ~1=0is (=2 bL=5 Cc=-|

[)L

5+ VT -5+V17
A, 4' B. "“““—:g‘“‘_“‘“—

5+ V33 -5+ V33
C A= 4

x=~BENGYEHEND_-5+(33

B

2(z) g

The solution set of v — 64 =0 is

B

Yoy iy
(8,8} B (-8
€. 18 D. [16, -4}
e e
=ty

» < Y "
C 3. The expression (x—4)? is equivalent to

-

A x - 16 B

@ 2 —8x+16 D
(x— (x-4)
X2 Yx-Ux+il

2+ 16

2+ 8c+16

The expression 6v/30 + 64/2 written in simplest
radical form is

[) 4.

A, 6V52 B. 12452
C 1V 3642

[ 5

Dé,

D&

39

The inequality 3x+2 > v+ 8 is equivalent 1o

A. Av}—-% B. ;>§
@ a3 B wey
Ive 7D
o =7 3
230 X7
= 7

What is the solution for the following system of

equations? 5 (2\] = fa>+ﬁ =7

2x+y=7 4y_\- [’)_+H::7

x—2y=6 —_ X= 2 =

dpan L 5@;{_;’
A Q3.0 B. (L} y=-[
& 14 ‘p<a4>

Which ordered pair is in the solution sct of the
system of inequalities shown in the graph?

A cellular telephone company has two plans.

Plan A charges $11 a month and $0.21 per minute.
Plan B charges $20 a month and $0.10 per minute,
After how much time, to the nearest minute. will
the cost of plan 4 be equal to the cost of plan B?

0.8[00) = H8min
Lhr 36 min
@ &1 hr 48 min
A > 0.20¢+|=Y
B =Po.10x+20=y _

0. z!x+////:.0 10X —t:/Z/D

0.2) x=0. 0¥ +9
—0D- 10x —p.10¥%

A, lhr 22min B.
C. 81 hr &min

g.ih=9

e

Xl D.”
Y="31.9



Unit 5 Study Guide

1. Aline is shown on the coordinate grid below. 2. Graphys -4/:;x+1.
soL|D
v 4_’§ : by
_— WP
// Vi \\ 5
/ VLS. e
FEEE 2581 BT A
F SRR SR VUNA8 LN
: % o g 20N
m=& b=5 Y=mx+p
Write the equation that best represents an
equation of this line.
/y: 2X+€/
3. Solve: 14 - 2x < -6(x + 1) 4.  Solve: -7(3x + 6) = 7(-3x - 8)
H-2x £ -l Xx— 6 ~2IA—H42=-2|x- 56
tux +oX +2|y +2ix
(449X < 4, —42=-50
— 14 —u}
Hye b [NO SoLuTion
g 4
[i=-F1
5.  Write an inequality fo represent the graph 6. Given the table below, what is the rate of
below. &2_ - 3x+4_j change?
& X 4
= Z -1 i3 :d’g"
b= 4 3 | 18
T i S | 18
1r 0 Above—~ - 7 | 22
I grecter E 2G o s& 3
| than = -11 | 28
N bsold ‘
v 5 equal 10




Unit 5 Study Guide

7. Graph the equation the equation

~§;+v=_33x:-+ Y= ~3X43
%
¥
A

A

\

8. What is the rate of change of the graph below?

& ¥

-

e | |

E

9. Findthe rate of change given the two points:
(-4, -15) and (16, 16).
& Y Xo Y

o -(-15) A 3|
-(-%) |20

10.  What is the rate of change given the equation
3x +2y=-8?
== . —=x
2= 88
2 = 2

[72-2x-4

1H Solve: 10 +%/, = -2
+10 +10

4"—4’)_(':8.4-

732

Short Response #1:

Solve the equation: 3(5x - 2) = 3(x + 2)
IS%=los 32X+ G
—-3)( —3X

| 2X—le = &
+o +to

zx=12 [ x=|
2 12

Short Response #2:
Solve the inequality: -3(x +2) - 4 < -2x + 10

=3x—lp-H< -2x+/0

~2Ind - ZX+10
+§§/D43X

—lo< X+ 10
._/8 X"/O
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Unit 5 Study Guide

Learning Target #2: Compare & Contrast Functions
12.  Identify what type of function each scatter plot best represents (linear, quadratic, or exponential) and
growth/increasing or decay/decreasing if applicable.
4 B 4 #
£y 0 % i:a
:1; “ & - jﬁ # ow :
i 3 :E E‘ ‘ '; 3 : Y ! = . " e 5 e i - e
Quadratics Exponential Linear Grow+n
D¢ Ca(/ ‘
13. What is the y-intercept of the graph of 14. Write a function to model the sequence in the
hix) = 3% = 27 L» (o, ﬁ-) table below. C—] cometric
o a, =300 =/,
hix)=3%-2 = - ' r=[.9 _,
Wook Population ] aﬂ~ 200 0 ‘ @n
(6.-1) :
! e, 454
£78
15, Aballis dropped by a height of 600 meters. 17 Which function has a greater rate of change
The table shows the height of each bounce. over the interval [-2, 0]?

Bounce 1 5 3 4 Function 1 Function 2
wac;\ﬂ@"s Height | 300 | 150 | 75 | 375 b h i % | ¥
roryY ' ¢
2o \B° : / 21 2

What type of sequence is modeled by the table ,v
and what is the common difference or ratio? / o
1 =Y ]
OMNMSNG, r=7/2 or 0.5 ||+ 5 5
el i o
16.  What is the range of EACH function below? / -l"( /JE S 7.4_3
=T . Z
g ye3x-2 ; 2 | 8
[l Read #s) / -
b. y=2*+3x-5 .E'FU'[;ZE :ﬁ- T:BB
ol ol T eB =
X= 38" 255 7 Y= 2(-%)+3(3a)-5
. y=2AkPr+g3
FUNCTION 2=
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